Name __________________________________


Chemistry IB Worksheet 2-2
1. Write an electron configuration for each element:


a. Si

d. Nd


g. Bi


b. K

e. Se


h. Re


c. Sb

f. C


i. element 116

2. Draw orbital filling diagrams for each element:


a. S

b. V

c. Ta

3. Put the following elements in order of INREASING ionization energy: (8 points)


Al, Cl, P, Ca, Mg, Ba, S, Ra


4. (IB 2004 paper 2)



(i)
State the full electron configuration for argon.


 (ii) Give the formulas of two oppositely charged ions which have the same electron configuration as argon.


5.  (IB 2005 paper 2)



(a)
Use the Aufbau principle to write the electron configuration of an atom of germanium.


 (b)
The successive ionization energies of germanium are shown in the following table:

	1st
	2nd
	3rd
	4th
	5th

	Ionization energy /
kJ mol–1
	760
	1540
	3300
	4390
	8950



(i)
Identify the sub-level from which the electron is removed when the first ionization energy of germanium is measured.


 (ii)
Write an equation, including state symbols, for the process occurring when measuring the second ionization energy of germanium.


 (iii)
Explain why the difference between the 4th and 5th ionization energies is much greater than the difference between any two other successive values.


6.  (IB 2007 paper 2)



(i)
Explain why successive ionization energies of an element increase.


 (ii)
Explain how successive ionization energies account for the existence of three main energy levels in the sodium atom.
